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This questron paper contains-two parts A: and B. - :

Part A is compulsory which carries 25 marks. Answer all questlons in Part A

Part B consists of 5 Units. Answer any one full question from each unit.
Each question carries 10 marks and may have a, b, ¢ as sub questions.

PART-A': . e
(25'Marks)
Solve the Hexadecimal number 2456 into decimal number. 2]
Describe the steps involved in execution of a program. (3]
List all the basic logic gates and universal logic gates. [2]
Give the comparison between synchronous and asynchlonous counter. [3]
Describe conditional jurhp with an example::. RS 23,
Define aboiit little-endiaii and big-endian.” ™ o 317
Describe paged segmentation. [2]
Explain the micro programmed control unit. (3]
List the advantages of DMA transfer. [2]
Write short notes on dual address cycle command o _,[ﬂ3]w‘
PART-B
(50 Marks)

Discuss the operational concepts of a digital computer and explain the various

types of computers and their applications.

Calculate the following to binary and then.to gray code, . o

(i) 100116 (i) 76235 (iii): 12345 (iv) 1257,61(v)223950. 7 2[545]
OR

Solve the number (+542.5)0 as a floating point binary number with 24 bits the

normalized fraction mantissa has 16 bits and the exponent has 8 bits.

Differentiate between RISC and CISC architectures. [5+5]

With a neat-diagram explain-parallel in parallel out shift register.

Solve the expression Y=AB + AB using only 2 input NAND gates, [5+5]
OR

Solve the multi-level NAND circuit for the following expression
F(A,B,C,D)= (AB +CD )E+BC(A+B)

Design ‘a.PAL for the following equation, F=.@ bc + b ¢ + ab.. 1545]

With a neat diagram explain the floating point multiplication algorithm.

Explain the Addressing modes present in IA-32 Pentium processor. [5+5]
OR

What s a st1a1ght lme sequencmg and explam W1th an example

numbers [5+5]
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Explain-the-organization-ef the control umt te allow condijtipnal branching-in the

Microprogtam. A i Y

Explain in detail the memory interleaving. [5+5]
OR

Give the timing diagram of a memory write operation and explain.

Show the control steps for the Branch-on- Negatlve instruction for a processor that

has the three bus structure iy o L5+5]

With a neat diagram explain the implementation of interrupt prionty using
individual interrupt request and acknowledgment lines.

Briefly summarize the bus signals of SCSI bus. [5+5]
OR
Explainin.detail the DMA controller. .3 T :
Explairi the Concept of thie programmed I/O With a suitable example. “[5+3]
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